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Fig. 2
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Fig. 5 APP23+CCH APP23+CCH
+WARFA +RIVA

[\ |||||||||||||||||||||||||\|||||||||||||||||||||||||I
:B |||||||||||||||||||||||‘||||||||||||\|||||||||||I

O WI Z@ APP+CCH E@ APP+CCH+WARFA APP+CCH+RIVA

APP23+CCH

CTX

Iba-1

HI

GFAP
CTX

HI

i sokok ididid
7 5 ok ok ok
C._ * %k #it $$$%
g ok ok ok
5 2 10+
2=
2z
£z
5 S
& e
0 | |
CTX HI
e koK
HH
sk ok %k
D 15m kkdkk # $$$% * ek k

kkkk  H# $$$8

10+

) 77 .
Vi & V.
Z =

T
CTX HI

Piexl intensity of GFAP
(fold with WT)




Fig. 6
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Fig. 7 APP23+CCH APP23+CCH

APP23+CCH +WARFA +RIVA

— WI @za APP+CCH m=a APP+CCH+WARFA @& APP+CCH+RIVA
% % %

ok ¥k ok ok ok
sk ok ok 3k
*ok ok #

CTX

4G8

HI

CTX

AB40

HI

@
3

Piex! intensity of 4G8
(fold with WT)
1
N
N\

* *%
& % %k % #
*kk  AERE $9$$ *k KK

w)

% % ok %k # $$3$

o 77
2 _ /

T
CTX HI

el
1

Piex! intensity of AB40
(fold with WT)




